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Then the number of points at which

g(t) is non differentiable is




Q13.Ifx=ay-1=2z-2, and
X = 3y -2 = bz -2 lie in same plane
then the value of a, b, is
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CQ11. If (a, ) is the point on ¥ =6x, '
that is closest to /[ 5. - | then find
2(a+f)
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z—0 x<sinx

then the valueof a + B+ yis
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Q6. If f(x) = x + 1) then find




Q4. The value of

. f 3"
tan [ 2tan I ( 5
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(Q1/A:if2+4 =7, then3 + 4 =8
B:if 3 + 5 = 8, then earth is flat
C:ifA and B are true, then 5 4+ 4 =
Wi

o Aistrue, B and C are false

o B is true, A and C are false
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Q3.Ina AABC,if AB| =7, |BC| =5 and CAl — 2

if projection of H};_‘I un:f-'-"*l is

( % ) then the value of n is :




